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761.1 x 1002 = 378 x 103 =
—3x10° = 100D =
5x10= 1003 =
5x 10" = 1004 =
1009 = 1002 =
—2x10 = 872 x 1003 =
254.1 107 = 3812 + 1003 =
1079 = 1002 =
434.8 x 1003 = 4% 10° =
707.2 =107 = 1073 =
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761.1 x 1077 = 0.7611
=3 x 10* = —300

5% 10 = 50

5x10°=5

1072 = 0.001

2% 10=-20

254.1 + 109 = 254100
107 = 0.0001

434.8 x 107 = 0.4348

707.2 = 10> = 707200

H -

378 x 107 = 0.378
1077 = 0.1

107 = 0.001

107 = 0.0001

1072 = 0.01

872 x 1077 = 0.872
381.2 + 107 = 381200
107% = 0.01

4x10° =4

1072 = 0.001
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